Exercise 2c
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Rewriting rules

S 
-> Wgc

S
-> Wat

Wgc 
-> a Wgc

0.999*0.1 = 0.0999

Wgc
-> c Wgc

0.999*0.4 = 0.3996

Wgc
-> g Wgc

0.999*0.4 = 0.3996

Wgc
-> t Wgc

0.999*0.1 = 0.0999

Wgc
-> Wat

0.001      

Wat
-> a Wat

0.99*0.3 = 0.297

Wat
-> g Wat

0.99*0.2 = 0.198

Wat
-> c Wat

0.99*0.2 = 0.198

Wat
-> t Wat

0.99*0.3 = 0.297

Wat 
-> Wgc

0.01

Sum of probabilities from any non-terminal is one.

We don’t know the probabilities of initial states, therefore production probabilities of S non-terminal are left open.
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